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1 |fTHREER TRAAETTE H22 1,426.88 1 SOV —hiE | F T 5| 1922026 8 269 8 3 2" (GRS ER H22 @]
2 |[fTEUEER BE2NTE 238.48 2 $%EE Ao #+T—4 315,564 36 2" &= ER X
3 [fTEUEER BEINTE H25 285.25 1 $B%EE Ao M+ T8 34 2" &= ER H25 X
4 |fTERER H—nN—1F H24 162.50 2 BBV Y)—hE | B T2 8 21 2" &= ER H24 X
5 |msmwemn (BT *‘“ﬁ'_’m‘ﬁ' s61 ns2| 2 zoft = 6 —w5 | @ | BS x
6 |PHsEMEIRE S43 37.77 1 ZDith i 6 3 X
7 K EREER H10 73.08 1 #HEE i 6 —#H" @R BER X
8 |mnmuEmn gf@?.f“ﬁ;ggﬁi s56 4250 1 sl = eEEDH 6 —aE | @ux | ®S x
s e I as525| 1 #Ei = BATE245 6 —u5 | @I | &K x
10 | faisEamsg S60 52.00 2 H®EE % 521 55| @F OO 6 — g BRI ES X
P e 55 5395 1 BB =" o %ﬁﬁ?i 6 —wA | mEus B85 x
12 |BEsraise g S61 52.00 2 BEE 3 %;j%ﬁ#% 6 ] R ER X
13 |BsauEmEg H17 8033| 1 #wEE | A.H0H '” 6 —w5 | @ | BS x
14 (B fEMEER H11 80.43 1 #HEE i 6 —&#H" (RIS BER X
15 (B fEmEER H13 80.33 1 #HEE i 6 —H#H" (RIS BER X
16 |Bhssfaigams gﬁ?g%;ég H28 65.00 2 BB [ 6 — &84 BRIzt BS x
17 |BFKERERER ’é’ﬁﬁléﬁéwﬂ N — — E3 12,281 SIf%BE DA 5 X
19 é%ﬁ%%ﬁgﬁ;_) BEE A H10 1391.12 2 ®EE M+ T—H 8 6 273 4 8| —ua R £ H10 o)
20 éﬁf&%ﬁgﬁz_) W= H10 008 1 BB [ T 8 10 = H10 x
21 ([GRERELT  |eEm H10 ' 1 ®EE  |mmrT—s| 02 4 =" H10 x
2 (GHRERELS  |Ekmmm H47 20,50 2 SO — ks = 02 8 = s47 x
23 [FHRERELIS |wmts—m H13 1398.34 2 ®EE B M+ T—5 8 1 156 39 2mE | @R BS HI3 x
24 (FHERESI™ W mmm H13 227.33 1 ®EE B H+T—5| 6032147 8 17 = x
25 [FHRERELI ko~zpimmnE| 3 2153 1 wEE B T8 02 2 =" x
26 |fRIBHEER ERTREE S 856 1,381,06 3 LYY —hiE | B+ T2 1591933 8 36 211 3 28 13| 2%FH (RIS BER H26 X
27 | NIEHEERR EFhianbltrs— HIT& 399.12 1 KiE (—E&%B) | H. BK0OH 707,094 10 4 160 —&a LR ER H22 @]
28 |KER LEESEEE S ] S60 1,607.43 2 gEFa Y —hE | H fROH | 17,430,041 8 2 199 6 42 2fEH R EX x
29 |KER RFEKIS H6 779.56 1 gEFa O —bE | H. MROH | 4,081,262 8 1 105 12 13| £fH R EX x
30 |KERR ZIRESKS H13 220.55 1 BV Y —hE | B, DA 543,837 8 25 3 2EH = BER x
31 |KER RERH KIS S56, H3, H22 980.40 1 SOV Y —hiE | B+ T2 6,996,535 8 115 1 1| £f8F R BER x
32 |KEE FEERF KIS H1, H16 2,484.78 1 OV O —hE | B, MDA | 18,404,439 8 126 4 2EH = BER x
33 |KER A AIE KIS S46 12.96 1 SRFaV Y —hE F 1,334,009 8 3 Fi3 BER x
34 |KER A5 E KIS S53 4.86 1 ALY —hE F 5,172,761 8 3 Fi3 BER x
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35 |KER A SEUKIS H5 14.50 1 #EFaV Y —bE | . ROH 308,284 8 3 1 i EX x
36 |KERR T2 S EKIS H5 14.50 1 EFaV Y —bE | H. ROH 2,753,863 8 1 3 Fi3 BER x
37 |KER T3S EKIS H12 11.45 1 #EFa Y —hE | H. ROH 2,403,368 8 3 Fi3 BER x
38 |KiEER FEER4-S ERKIS H16 11.45 1 #EHaV Y —hE | B T2 2793331 8 3 i3 ER x

HIGHDE (K& |(HIBADE S54 A MDA | 8,969,000 —&8F AR ER o]
39 |HILANE *roTig 1 16 5 35 1 X
40 |(HILEHDE O (124%) 1 16 50 40 a0 BRI ER (@)
41 |BIHIDE BHE 1 8 3 27 1 — & @Ea= EX @)
2 |BIEIDE IKHEfE 1 8 1 20 — A @Ea= EX @)
43 |HIBAIDE T—ILEHEHE) 8 11 4 X
4 |BIEAOE BE 1 14 15 180 8 7| —##F @En= EX (@)
45 (HILBAENE B 1 8 10 85 3 —#H" [ERIEN ER x
46 |(HILBHNE FER 1 12 80 3| 2fEH (RIS BER X
47 |HILBAENE REE 12 25 14 24 4 X
48 |HIBADE [At={AYo} -3 6 12 X
49 |BIHIDE A (22%) 2 9 124 3 5| £f%F @Ea= EX (@)
50 |HIHHDE HHERR (4%) 2 5 10 35 0 1| 28 @Ea= EX (@)
51 |HILHDE REi5 1 5 60 70 3 —&H" (RIS ER X
52 |HILHDE eI 2 5 74 5 X
53 |HILHDE ST (ER) 6 8 40 X
54 |HILHDE MERT 1 2 X
55 |HILHDE == 1 5 22 —&F @R BER X
56 |E#HtEHER gﬁﬁggmt’@_’s‘n S41 3,320.25 3 VYU —hiE | B T2 1,168,040 8 214 0 10| —&HF (RIS BER H3 X
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60 |RAR—VIREER EHRT=Ra—b H5 3,400.00 ZDih olnase 16 X
61 |RAR—VIREER EREKT—IL HIT4E 1,708.47 2 BBV Y —hE | B T2 28 193 22 6| —#A (RIS BER X
62 |RR—YIRER K Ek IS S63 12,690.00 2 SOV —hiE | F. 4+ T—%| 6630537 2 148 180 7 x
63 |RAR—VIREER EhYITIIUR H5 8,840.00 48 X
64 |RR—YIRER ATHREKRER H13 4,795.81 2 BBV Y —hE | A T2 60 817 216 39| —#A (RIS BER X
65 |RR—ViREER AT H20 12,470.00 2 SOV —hiE | F. 8+ T—%| 6,200,501 107 176 x
66 |RAR—VIREER BAFT=Ra—+ H14 4,210.00 ZDHh 40 X
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67 |RR—YIRER HEH YU ELYY H11 197.72 1 AL o) —NE | B |+ 75| 1,737,371 60 33 79 —E BRI BR X

68 |CEHE KiBEE—RER 855 779.49 1 #®EE A ME+T—5| 1014317 11 3 122 1 7 3 x
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69 |CEHE KEETE TR B S— H12 1,122.60 1 #HEE ﬁg.ﬂH--r—sz\ 1,167,787 s 228 0 2 X

70 |ZEHR KBEFERERR S50 563.76 1 #HEE Ho #+T—4 960,476 8 121 2 1 X

n|SELE KB EETRER H17 66.24 1 Kig A M+ 74| | x

72 |2EHE KBEEARER H7 767.29 1 Kt (—E8E) |B.8+7—5| | 1,132,865 8 242 7 3 X

73 |2EHE KBEEARER H23 70.38 1 K& HMHT5| | X

74 |2ELE gﬁﬁﬁity@_% S54 361.37 1 HEE B MEDH || 294,991 8 23 10 7 1| —#5 RIS ER X

75 |CEHE gg)ﬁﬁit’@_% S55 191.66 1 S A {0H | - x
T KEBERE L H— )

76 |CELR (B2 55T H11 3478 1 ES Ho #HDH | | x

77 |2EHE SIRRERE S61 192.00 1 Kis A, DA 95,081 8 23 2fEF BRI BR X

78 | TKER KigE#ie o 2— H14 2 gEFaV Y —bE | H MROH | 12,149,086 8 10 575 16 28| 2fEH &= BR O

79 | TKERR RNFB S E— H11 2 ALY —hE | B, MDA | 15091456 8 3 285 10 1 7| 2fEF lEEES ER @]

80 |TFKEE FEABKES Hé 73.40 1 AV I —hE | B, DA 6,182,634 8 30 5 2MEF lEEES B5 @)

81 | TFK&ER KRR NIRE $56 2 BV O —hE | B DA 6,374,121 8 19 264 1 16 20 12| 2fH &= EBR O

82 | TF/Ki&ER REFKLEL 52— Hé 2 BV I—hE | B, DA 5,087,249 8 99 10 25H & 7= BER (@)

83 | TF/K&ER KIEFKDE L 5— H9 2 BV Y —hE | B, DA 8,466,051 8 87 19 2| 2fEH &= BER O

84 | TFKEE AEKLEE2— H13 2 BV O —hE | B, DA 2,565,309 8 79 2MEF lEEES BR @)

85 |T/KERR KEMARIEL 52— H10 2 AV I—hE | B, DA 3,894,634 8 89 2| 2fEH &= BR O

86 |T/KERR SRETEKLE L S— Hé 1 BV Y—hE | B DA 676,847 8 25 2" &= BER (@)
[ KBENFR KE 4 P s

87 |FRHBER 1 S45 1,434.00 3 BHaALD)—ME | H. BDH 8 25H &= BER H28 X
o KEENTR BE 4 PR 261 —

88 |FRHEER 2 S45 247.00 3 BHaAD)—ME | H. DA 8 2H &= BER H28 X
[ KEBENFR KE 5- P s

89 |FRHEER 1 S46 1,844.00 3 BHaAD)—ME | B, BDOH 8 2fH &= BER H28 X
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0 |eHHER KBRNER BE S s 15000 [ 1 |BEAVOU—NE | L O 8 21| em% | @IX | ®mE H28 x
3,457,967

91 |EREER KEDNER RE 6 S47 1,259.00 2 SV I —hE | B, DA 8 146 2" &= BER H28 X
[ KEENER KE P

92 |ERHEER 111 S54 827.00 2 #HaI)—hE | A HOAH 8 25H @5 BER H28 X
o KEENTR BE o 79 —

93 |EREER 11-2 S54 158.00 2 #%BiE H. OH 8 25 BB BR H28 X

9 |EHRHER ?Siﬁﬁ']&& whtE 49 107000 2 HFHaLOY— g | A EOH 8 66 60 13 = x

95 |FREER KENER BE 1 S56 2,946.00 3 BV Y—hE | B, DA 8 487 10| 2fH &= BR H28 X

1,859,360

96 |FREER KEMNER KEE 6 S57 775.00 2 #HEE H. OH 8 41 23 5 E: 3 X

97 |ERHBER AENER KE 11 $53 828.00 3 #SAHaV O —hE | B, DA 8 25" &= BER H28 X

98 |FEREER HENMER KRE 1-2 S53 753.00 3 BV Y —hE | B, DA 8 322 2H &= BER H28 X

13
9 |EREER HENMER KRE 1-3 S53 234.00 3 BV O —hE | B, DA 1,310,155 8 2MEF & R= BR H28 X
100 [FEHREER AENER KRE T H2 167.00 1 K& 3 8 66 2fEF &A= BR H28 X
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101 |2REER AE/INER KEE 3 S55 791.00 2 ®EE H. HDH 8 32 15 5 3 X
102 [EREER ZENER BRE 11 S53 1,000.00 3 EFaV Y —bE | H. ROH 8 2" @5 BR H28 X
103 [EREER ZENER BRE 12 S53 801.00 3 #EFa Y —bE | H. ROH 8 2" (RIS BR H28 X
104 |2REER ZENER BRE 2 S53 280.00 2 #EFaV Y —hE | H. ROH 8 493 15| £fH [ERIEN BER H28 X
105 |$HBESR SEH BE 1| 53 o | 2 |mEavsu—rE| momon | 8 2eE | @ BR Hes x
106 [FHREER ZENER BRE 32 S53 754.00 2 #EFaV Y —hE | AH. ROH 8 2" @R BR H28 X
107 [#REER ZENER KB 5 $55 850.00 2 #HEE A, DA 8 40 15 5 i X
108 [FEHREER RIERDNER BE 1 S56 1,846.00 3 EFaV Y —hE | H. ROH 8 2" & R= BR H28 X
109 |FHRHER RIERNER BE 2 852 211.00 2 Ki A, DA 1,217,922 8 e 'z 2" @R BER H28 X
10 |2REER waﬂll\aﬁ waE 857 775.00 2 #HAHaV Y —hE | B T2 8 40 20 6 i X
M1 [EREER BRAER BE 1-1 S53 1,983.00 3 #EFa Y —hE | H. ROH 8 2" @R BR H28 X
12 |$R%ESR ERER BE 12 $53 577.00 3 BV I —hE | B, DA 8 e 11 2" (RN BER H28 X
18 |ensER BRNER BE 1.3 | HIO 8.00 1 ®EE mmon| 8 57 oA | @M BR Hes x
14 | 2REER BRINER (KEE 5 S55 774.00 2 ®EE H. HDH 8 65 21 6 3 X
15 [EREER ERNER BE 1 S54 2,872.00 3 #EFaV Y —hE | . ROH 8 2" &= BER H28 X
116 |2REER SRNER KE 2 S54 1,293.00 2 BEaVYU—bE | H MDA | 2,673,620 8 s " ES0 BRI BER H28 x
17 [EREER LENER KB 5 $56 998.00 2 #HEE A, DA 8 65 23 6 3 X
18 [BBEHER BENER BE 141 $33 400.00 1 Ki i 8 2" @R BER H28 X
19 [BERHER BEDNER BKE 1-2 859 4.00 1 Kis i 8 ” 2" (RIS BER H28 X
120 [BBEHER BEDNER BE 271 $33 133.00 1 Ki& 3 8 2" (RIS BER H28 X
121 [#BREER BEDNER BKE 22 S34 244,00 1 Kis i 8 2" @R BER H28 X
122 [#BHER WmAENER BRE 2-3 H3 294,00 2 Kis i 8 2" @R BER H28 X
123 [#BHER BEDNER KE 2-4 859 2.00 1 Ki 3 8 e 2" @R BER H28 X
124 [BBRHER BEDNER KE 25 H25 32.00 1 Kis i 8 2" (RIS BER H28 X
125 [#BRHER WAENER BE 19 S34 1,118.00 2 Kis 3 8 2" (RIS BER H28 X
126 [SFRHER WBENER KE 31 S59 8.00 2 Kits i 8 S| SmAE @Rt ) H28 X
127 |2HHER wEINEE BE 32 | su 2600 1 Kit =" s 8 eem | @R &S H2s x
128 [BBEHER WMAENER BRE 9 S34 26.00 1 Kis i 8 183 2EH @R EX H28 x
129 [BBRHER WmAENER BE 10 852 13.00 1 Ki 3 8 2" (RIS BER H28 X
130 [#BRHER WmAENER BE 18 S58 23.00 1 Ki& 3 8 2" (RIS BER H28 X
131 [BBRHER BEDNER KE 2171 H3 33.00 1 Kis i 8 2" @R BER H28 X
132 [#BHER BENER KE 212 H25 10.00 1 Ki 3 8 ! 2" @R BER H28 X
133 [EREER WmAENER BE 23 H21 717.00 2 #EFaV Y —bE | H. ROH 8 203 2MEF & R= BER H28 X
134 |B2BRHESR IR RE 24 H25 1,076.00 2 B®EE Ho HRDH 8 192 B o] BRI BR H28 X
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135 |ER%%ER WBENER KREE 17 S56 777.00 2 $%EE H. OH 8 39 15 9 =" x
136 [H%EE BENER KBE 1 S48 1,000.00 3 VD) —E | B, ROH 8 28EF &= BR H28 X
137 |R%EE BEAENER KE 12 S48 1,523.00 3 Vo) —E | B, ROH 8 o 3] & R= BR H28 X
138 |[H%ERE BEAENER KE 1-3 H17 3.00 1 #HEE A, DA 1,964,528 8 10 3] &= BR H28 X
139 |HHER BENER KBS 9 H7 191.00 1 K& A, DA 8 66 25 &R BER H28 X
140 |#HHER BHENEE KB 8 S51 732.00 2 BHILY—E | B EOH 8 38 16 4 S x
R FBE/NEE HE 9 S46 842.00 2 BV YU—hE | B, ROH 8 114 2fEF a5 BR H28 x
142 | 2B ER BB/ #E 14 $60 2,994.00 3 BV YU—hE | B, RO 8 458 15| 2fF [EETES BR H28 X
143 | 2B ER FE/NEE #E 18 H16 630.00 2 BV YU—hE | B, ROH 200831 8 123 E ) [EETES BR H28 X
144 |$BHER BB/ hESE 12| S52 659.00 2 HEE H. MEDH 8 24 25 6 S x
145 [FREER FEER BE 101 S48 405.00 2 BV o) —NE | B, ROH 8 3] &= BR H28 X
146 [FREER FEER BE 102 S48 956.00 2 VD) —E | B, BOH 8 2 28EF &= BR H28 X
147 [#REER FEhER BE 14 S63 61.00 1 #HEE A, DA 8 6| 2fEH & R= BR H28 X
148 | 2B ER FPE BE 15 $63 22,00 1 BV YU—hE | B, RO 11380880 8 84 E ) [EETES BR H28 X
149 [EREER FEER BKE 16 S63 443,00 2 Vo) —hE | B, ROH 8 3] &= BER H28 X
150 |$H%ER FNEE REEE 13 $53 580.00 1 H®EE . HDH 8 58 15 5 =" x
151 |E%%EE BETFIMER KE 11 S53 1,657.00 2 SBEHaVD)—hE | B BOH 8 255 BRI ER H28 X
152 |2H%%ER ATF/NER KE 1-2 S53 2,434.00 3 Vo) —E | B, ROH 8 ot 27| 2fEH BRI ER H28 X
153 |E%%EE BETFINER K2 6 S63 400.00 1 S%EE H. OH zoanaze 8 58 255 BRI ER H28 X
154 | 2REER FT'J\Q& A 4 S55 993.00 1 #HEE B MH+T—4 8 80 30 5 i X
155 | B ER BENEH S 1 s57 1,932.00 3 BEFaLYU—hE | B, RO 8 324 11| 2\F [EEIES BR H28 x
156 |SHHER WENE KEE 9 | S5 580.00 1 B womon| 8 a1 2 6| ® x
157 |pzEs BINEH BE 15 S51 2,376.00 3 BEiavyU—bE | H KOH 8 434 ES ) &A1= BR H28 x
158 |[#%EE BINER BE 19 S61 842.00 3 BV I —hE | B, DA 2,708,048 8 171 " 2fEF &= BR H28 X
159 |RBER BINER: (KEE 18] S53 664.00 1 #EE ® 8 42 15 5 = X
160 |ZERHBER KimEPER &E 21 H15 4,801.00 3 #AHaVI—bE | B, DA 8 865 2fEF hRE BER H27 X
161 [EHREER KBEPER KE 18 H5 980.00 2 BV I —hE | B, DA 8 248 % 3] R BER H27 X
162 |2HR%ER ;kiﬁiéq:a*’; WHE s47 1,451.00 2 Z Ot Ho #DH sommots 8 37 56 " X
163 |2imEE 7’;5§Eq’$*’; S H2 513.00 1 BB A4+ 8 12 18 3 x
164 | %GR BB KE 11 S50 1,000.00 3 SOV I —hE | B DA 8 3.0 = BER H27 x
165 |FH%ER BB KE 12 S50 661.00 3 SOV —hE | B DA 8 25" = BER H27 X
166 |BED RS A 2-1 S50 689.00 2 BV YU—hE | B, RO 8 539 ES ) R BR H27 X
167 |H%EE BB KE 2-2 S51 557.00 2 Vo) —E | B, BOH 8 " 2MEF R BER H27 X
168 |2HsER BEhEE BE 3 s51 50.00 2 #Bmassy—rE | B BOH 2oaReTe 8 2F | Rt B85 H27 x
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169 [BRHER BEREE KT 8 $55 285.00 1 #®EE Ao HDH 8 62 28 PR ER H27 X
170 [#BHER RIBPER KEE 5 S52 1,204.00 2 #HEE A, DA 8 30 20 5 i X
171 [BBREER RIRPER KBS 10 H4 507.00 1 #HEE A M+ T2 8 15 18 i x
172 | 2REER ;’ifﬁﬁq:i& "E H25 2,370.00 4 SOV o) —hiE | F T2 8 1350 . iy 2fEH R EX H25 X
173 |2REER ;’iﬁﬁﬁq:i& "E H25 3,464.00 4 SOV o) —hiE | F T2 8 2fEH R EX H25 X
— = 4,626,982
174 |$REER gﬁ‘éﬁq::"& H S46 1,308.00 2 BB . EOH 8 74 49 = x
175 | 2REER gﬁifﬁq:i& e H3 511.00 1 #HEE B ME+T—4 8 12 18 i X
176 [#BRHER ATHER KE 18-1 H24 2,655.00 3 SRFAV O —bE | B, T2 8 2fEH R EX H27 x
177 [#BHER ATHER KE 182 H24 719.00 3 SEFAV Y —bE | B T2 8 1080 136 31 2" PR BER H27 x
178 [#BHER ATHER KE 18-3 H24 1,613.00 3 SEFOV O —hE | B T2 8 2fEH R EX H27 x
179 [#BHER BTHER KEE 19 H24 1,280.00 1 BV Y —hE | B T2 Ho0%088 8 64 98 28 (7) i x
180 [BEHHER ATHEK KBS 15 H4 770.00 2 SOV Y —hiE | F T2 8 99 24 6 i X
181 |2RHBER gi?;iﬁ HE- 25k H25 386.00 1 %S H.AE+T—4 8 44 16 Z 25 (5) E:d X
182 [BEHER ATEPER BE 12 H25 4,996.00 2 SOV o) —hiE | F T2 8 908 306 22 2fEH R EX H25 x
183 |EREER ETEEF%& waE H26 1,268.00 1 Z0ith H.#+7—%| 5978047 8 78 75 1 i x
184 | EREHR fTﬁq:aﬁ ] S58 520.00 1 #HEE B MHE+T—4 8 28 24 3 i X
185 (4HEFER KimE s REE S48 1,089.34 3 #AHaV I —hE | B, DA 1,584,414 12 197 24 15| —#F @R BER (@)
186 |EEFER REARE H29 34258 2 AV I —hE | B, DA 96,244 12 1 60 3 —&8F (R ER x
187 [£EFER EEHAREE S60 331.35 1 Kig Ao DA 289,582 12 55 —&8H @5 BER @)
188 (4HEFER ZEAREE S55 343.79 1 Kig A, DA 232,358 12 57 —&8H @5 BER (@)
189 |EEFER RIER L REE S62 312.60 1 Kig Ao DA 273,029 12 33 3| —#F (RIS BER (@)
190 |£EZER BERARE S59 380.08 1 K& H. HDH 277,805 12 4 54 — A @En= EX (@)
191 |EEFER LR ARE H24 318.81 1 Ki& A, DA 313,308 12 65 6| —##H (RIS BER (@)
192 (4EPER RFLAREE H19 289.00 1 Ki& Ao DA 468,025 12 7 56 —#H" AR ER o]
193 |EEFER NFRAREE S49 273.20 1 Kis A, DA 349,370 12 37 —A BRI BER @)
194 [HEEZER BEEARE S54 288.59 1 Ri& . RDH 343,622 12 52 3| —#H @Ea= EX (@)
195 |EEFER ATHRARE S63 902.64 2 ALY —hiE 3 1,098,110 12 109 168 13| —#F @R BER (@)
196 |E£EZTR ATHEARE S53 521.86 1 ®EE 3 680,951 12 95 1 5 —#H @Ea= ER @)
197 |£EZER HERERM S58 144,02 1 #HEE Ao HDH 115,484 13 4 23 3| —#H @Ea= ER @)
198 |HEFER hEIRERF H4 214.06 1 Ki& A, DA 252,509 13 27 —&8H 5= BER (@)
199 |EEFER BT&ERMH H7 105.76 1 Ki 3 34,540 13 23 1| —#F (RIS BER H28 (@)
200 [EEFER ATFXttr5— S56 642.62 1 o) —hE 3 587,729 13 2 74 2 4| —i#F lEEES ER H28 O
201 |EESFER BBt 2— S48 429.60 2 ARV —hE % 384,966 13 17 43 3| —mA AR ) o)
202 [EEFER Ex{btrs— S58 342.25 1 $%EE 3 441,268 13 2 25 2 3| —&F lEEES ER (@)
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)i BEF () e HiE (M) (h/8) BEUT BT | KERAT-HID LED LED LEDLLSH HE ZRAR |[TRILF—F BHE (ESCO)
203 |EEFER 2EXEtE E— H27 221.10 1 Kig Ao RDH 189,708 13 0 42 2 —#H" @R EX x
204 |EEFER HEFE A H8 2,682.29 2 gEFaV Y —bE | H MROH | 3,644,730 13 65 605 34 6 31| =fEF R EXR  |H26FDH) (e}
205 |EEFER iR 2 — H4 5,110.00 7 #AHaV O —hE | B T2 6721269 12 349 204 144 55| <%fER R EX :2,72};,’,;3 ©)
206 |LEFER REREE (gg;]{;& 911.20 2 Kig Ao RDH 414,832 13 10 78 3 —&8H (RIS ESU ©)
207 |#t&fEHER ATHRERILE S H13 19,853.00 1 #EFa Y —hE | H. fROH | 4780351 125 204 632 52 1 10| £fFH R | EH- AT H13 (@)
208 |#=fEUEER 'D_E’BE%%E*J&’ H2 401.05 1 Vo) —E | B, ROH 638,337 8 0 63 3| 2fEH & 7= BR & @]
209 |#t&iEHER BEERLEE S ST geg 256.00 2 B 5 8 3 120 1 3| 2mH @A ESR  |H20H26H27] O
210 |iEBRHMEREER KiE B B H14 229.74 2 Z 0t Ao EDH 493,793 12 i x
211 |#BHIEHERR RLER AR 55,774 10 i X
212 |#BHIEHEIRR SRR AR 38,592 6 i X
213 |#BHIEHEIRR HHAmAR 139,458 3 i X
214 |#BTHIEHEIRR HATRENE 16,566 6 Fi3 x
215 |#BHIEHEIRR [ e 520,662 29 i X
216 |#BHIEHEIR R RENE 60,165 2 3 X
217 |#BHIEHEIRR EHRBELE 117,059 3 " X
218 |#BTIEHEIRR HELERNE 99,198 3 Fi3 x
219 |#BHIEHEIRR By LAE 40,851 2 i X
220 |@EtER ;ﬁﬁzﬁ(lﬁb‘u 58,542 3 m x
221 |#BHIEHEIRR 2EHRAE (DL S) 121,197 3 = x
222 |#BTHIEHEIRR 3EHRAB(Z&LZEL) 93,074 2 " X
223 |#BTIEHEIRR 4SHEAE (KB<B) 47,044 1 " X
224 |#BTIEHEIRR Y N 18,957 122 i X
225 |#BTHIEHEIRR FRE—REQE 8,152 8 " X
226 |#BTIEHEIRR REPRBRENE 3 i3 X
227 |#BHTEHEIR RRE_RENE 1 Ed X
228 |#BTIEHEIRR HRE=REAR 4 i3 X
229 |#RTHIEHEIRR AETFHREAR 88 E: 3 X
230 |#BHIEHEIRR AEFRELR 348,454 1 i X
231 |#BHIEHEIRR BRE-REAE 1 i3 X
232 |#BTHIEHEIRR BERE_RENE 1 Ed X
233 |#RTEHEIRR ATHEEHLE 1 i3 X
234 (#HTEHEIR HROLS 1 =" X
235 |EEtER KBESTANAY |14 <;2§'§3? 1 BEOUOY—ME | B, EOH 384,340 101 6 5| —maE | @ms B8 |FHEsD)|  x




